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Taking the partial derivaties of (20) and (21) with respect

to z and 1r, respectively, and combining the resulting

equations to eliminate Op , gives

2 —

(Zren- 25

0
ar*

a||Ql

€ -]

[— (€ +‘5’)] (22)

2: —
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+ lr:-—r(a.r") - —2(— yre) =

Using strain-displacement, and displacement-displacement
function relations, equations (2) and (3), a single equation
containing only the displacements function Qj , and the

material strain paruneters, @ and € , can be written

in the form

T 4 2 2,0
VY Ty ()



